
The Pythagorean 
Theorem

10.3

A tool for right 
triangle problems only



When do I need to use
the Pythagorean Theorem ?

When I know the length of 2 sides

and

Need to know the length of the 3rd side



What is the Pythagorean 

Theorem?



















𝑐 = 25 𝑐𝑚

𝑐 = 149 𝑖𝑛

𝑐 ≈ 12.2 𝑖𝑛

















A 15 foot ladder leans up against a building.  The foot of 
the ladder is 5 feet from the base of the building.  How 
high up the wall, to the nearest foot does the ladder 
reach?

Draw a picture:

15 ft

5 ft

𝑎2 + 𝑏2 = 𝑐2

𝑎2 + 52 = 152

𝑎2 + 25 = 225

𝑎2 = 200

𝑎2 = 200

𝑎 = 200 ft

𝑎 = 14.14 𝑓𝑡

The ladder reaches about 14 feet up the 

wall.


